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No. of Questions : 180
gl % dem ;180

1
Time : 2—2- Hours Full Marks : 450

nw:z-;— g YUy : 450 |

Hote: This paper consists of Objective Type Questions and is divided
into Five Sections (I to V) as under :
uﬁm—wa@ﬁﬁumﬁﬂmﬁﬂ!mﬁuwﬁ(lﬁv}ﬁ

P ¥, ot o A ot B

(1) Sections 1, II, HI and IV are compulsory. In addition, a candidate
is required to answer questions on EITHER English Language
OR Hindi Language - :
ml.n,mm-wmtumﬁmﬁrﬂmamuﬁﬁaﬁﬁﬂw
mﬁm(ﬂ?}%mﬁfﬁmﬁtn

(2) There are in all 180 questions. Attempt as many questions as
you can. Each question carrics 8 marks. One mark will be
deducted for each incorrect answer. Zewe mark will be awarded
for cach unattempted question.
@rmumt:mﬂmﬁﬁnﬁﬁmﬁwmaﬁmﬁﬁm
aaizﬁmrtlnﬂmmmimrvsmmwrm
araita WA W A g L

(3) Each question is followed by Four alternative answers (1), (2}, (3)
and (4). Only one of these answers is correct..Select the correct
answer and record it against the relevant question by darkening
the circle with Ball Point Pen in the Answer Sheet, as per the
guidelines. ' :
T uvE & urt Yeitem ot g ¥ Pre¥ (1), (D), 3) T (4
ﬂ%ﬁtﬁmw-hﬂﬂ‘a%m Wﬂ'ﬁtlﬂ%mﬂ

.mﬁﬁuma@ﬁﬁmﬁw—wﬁm—ﬁm%

ﬁi@ﬂaﬁmw{ﬁmﬂﬁmw&wmmmwl

(4) If more than on¢ alternative answers sccm (o be approximate 10
the correct answer, choose the cloasst onc.

e R ' o

3 ».T.O.
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01.

02,

: BECTION -1
s -1

Mathematics
(7rere)

o

Which one of the following numlﬁers can replace in both the question
marks in the given fraction?

ﬁﬂéﬁaﬂmmﬁﬂﬁﬁwﬁmﬁw
i%ﬁi’f(?)aﬁtwr@wwﬁ‘r%

? 16 4
——— T .

[44 ?

4 i f

) 24 (20 48 - (3 s6 () 32

Two amounts have a ratio 9 - 7. If the first one is worth 27 then other is -

ﬁ?ﬁﬁrﬁ?ﬂ%ﬂquﬂtlﬂﬁaﬂﬁﬁwaﬂﬂ%ﬁigﬂﬂrﬁ:%
() 21 @ a9 (3 7 4] 63

. In how many years the simple interest of any principal at the rate of

2 .
4% will be 3 its principﬂl?_t‘ K

(1) 6 Years " (2) 8 Years
{3) 9 Years (4) 10 Years

ﬁmﬁaﬁﬁﬁaﬁmwmﬂﬁmaﬁﬂﬁ B0 i?r
SARET 7
(1) 6 (2) 8ad (3) 9af {4) 10 a¢
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04. In an examination 15% of thé students failed while 1275 students
passed. The number of students appearing in the examination is :

Rireft afie 7 15% BIF Srgwiivl gU wrEfs 1275 BT Sfet g T
¥ go frew o wfERiE g
(1) 1,000 (2) 2,000 (3) 1,500 (4) 2,500

05. \How mitich water must be added to 30 litres of altohol to make solution
of 40% strength ?

(1} 15 Litres (2) 25 Litres (3) 35 Litrgs (4} 45 Litres

au&raﬁﬁﬁmﬁwaﬁﬁﬁammm
OB AR 7

(1} 15d@RT 2) 25T (3) ISHMEX (4} 45T

The average age of 30 studﬂntsl_ul' a claa;s,_is 15 years. Average age
remains unaltered even if 3 new students are admitted. The total age
of 3 new students is : :

(1) 15Years  (2) 30 Years [37/45 Years (4} 60 Years

07. At what rate of simple interest will a sum double itsell in 8 years ¢

T Wi @ Rew T @ A wwlp 3 ast & TR & wwEn
R @ 12% @) 128 e 122%%
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08.

10,

11.

Find the value of 5.6435 = 46'}"35 + 26.54 to two decimad places.
5.6435 x 46.785 + 26.54 ¥ WA I §IAT ©NH A% et |

(i} 9.95 2 9.38 (3) 8.98 (4) 10,01
Express the mutual relation of the following in the form of ratio :

1 Quintal and 1 gram -

Prfifas & oels g9a = a?gqm H W ﬂ E‘ﬁﬁ! ERgiE

L e o 19 ' “
(1) 10000 :1 {2} 1:1 it
(3) 1000: 1 (4) 100000:1

A person buys article of Rs. 16,000 and sells the same. far Rs, 25,000
less 20% discount; find his gain percent. = .- WasgE !

%mmwaﬁthsmom‘&%méﬁﬂs%mmm
zonfama{&mritwt A o gftwr gemd

(1) 20% 2] 24% @) 25% @) 30%

What should come in place of the question mark [?? ) m the following

gerieg ?

ﬁwﬁmmﬂm(?)%mﬂwwﬂmﬂm?
5, 10, 20, 40 ( ?) 160
(1) 80 (2) 100 (3) 120 . {4) 320
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12. Find the value of : 63.42 x 7.639

63.42 x 7.639 T AT W BN |
(1] 384.4 (2) 484.4 (3) 387.4 (4] 487.4

2368
Find the value of : ?539.6 ™, FﬁlﬂA

136.8
;;539.6:2?510.4 a0 W B
{1) 0.2126 2) 03126 (I 04126 4) 0.4216

14. ]I all elements except the mmn diagona! of a square matrix are zero,
such matrix is :

{1 Zero Matrix # [d:;/'rriangular Matrix

(3) Diagonal Matrix - (4) -Transpese Matrix

g ot aneE & wiﬁmﬁt%mﬁmé’mmgﬁuﬂ@
8 @ a8 s ELih-SA

(1) A HATE S 2 BriiE e

(3) Fagol aegE (4) aRad. o

dz -
15. Ifz-2x’+3y“ﬂmnﬂ1cvalueof—-alx-land].r =3is:

ﬂf&z-!x“+3y’ﬁ'fx-lmy-3%ﬁ'ﬁﬁ; o A B
(1) 4 2) 8 (3} 2 4 3

16, SénhmgPﬁcciaelem;
(1 r,urq&iue?rioe*ers% (2) Purchase Price + Loss
M ‘Parchase Price + Profit % ﬂ?’WMGPﬁﬁt

J.

7. P—To ﬂ-



14U/101/19(1)

g geg aET #
(1) »Haes + &8 % C(2) mhGEE + @y

(3) S + AH % | (4). .FFUTE + @r|
17. Find the value of 99999 + 99 - g,

99999 + 99 + 9 T Heq ;A ¥ |
(1) 121 (2) 211 (3) 221 (4) 112

0 What should come in place of questlon mark { ? ) in,the following
series 7

ﬁmﬁmﬂhﬂﬁﬁnﬁwm,(?)ﬁmwwmmﬁq?
1 3 9 21 81 (?) 729 s
(1) 243 2) 324 (3) 686 * W 162

19. Find the value of : {Bir + (9)5
(81) + (9)* & oy AT HYT ) Eow w0 B
(1) o @ 81 @) 728 . (4 656!

20. What should come in place of question mark ( ?} in the following
proportion ? '

ﬁwwﬁwﬁa(?)%tﬁﬁﬁwmmﬁ&?
4 o F g o g1 ' ‘ :
(1) 12 (2) 15" (3) 16 (4) 18

2%1. Find the value of : (5P = (3P + (512

BF > BF +(5F =1 wm™ Wy FHvmg)
(1} 40 (2) 45 (3} 50 (4) 55
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. 1
24.\An agent gets 3% general commission and 2—2-% del credere

commission..What is his total remuneration on total sales of T 15,000
if sales of ¥ 10,000 is credit sales ? '

e 1 :
g TR 3% AT SIS T Zi%uﬁsﬁumﬂmmm%t 15,000

& g Rpg or aiftafs Far ¥, At T 10,000 3 fah gury fash & 7
(1) 250 (2) 300 (3) 450 (417700

r\ﬂ_&\ﬁ'm:l ont capital required to earn a monthly interest of T 600 at 6%

/p.a. at simple intérent ?

emmmﬁnﬁmmmmm%m
ijpfraﬂ :ﬂmmt ?

(1) €90,000 (2 71,00,000

@r ti20000 (4) ¥ 1,50,000

24. A brol&:r’a income t 1,500 remains unchanged, though his brokerage

. ' .
is decreased fram 3 % to 2—5%?. Find the percentage increase in broier's
trade. |

mﬁ'ﬂaﬁﬁmzé%aﬂ%wﬁiﬁwaﬁm
z1,5mﬁw_-tlm%wﬂﬁmﬁgﬁmgﬁaﬁm
CL i S |

m WM, L 2% 2&% e A
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: An article was sold at 5% profit. If it I'& sold at 5% loss, then we get
T 15 less. Find the cost price of the article.

T TR 5% AV T AN ) AR I 5% @ T A kw ar
¢ 15 &9 e 99 9K W AN 95y S9gd |

(1) 100 () T 120 (3} T 130 [4‘)/2 150

26. A pen is sold for T 11 and makes the same percentage of pruﬁt for
which it was purchased. Find its purchase price:

%h@zllﬁww%aﬁaﬁﬂaﬁﬁaﬂﬁmﬁmm
B P & 98 w3 B mar an ) see w9 g9ea s P

(1) T 10 2) T 11 (3) 7 12 4 T 9

27. Total number of elements in a determinant of thm:l order 1s ;

Wﬁ%mﬁ@ﬁrmﬁﬂ%méﬂﬁ%
i1 3 2) 6 (3 9 4) 12

28. |16 men or 28 boys can do a work in 40 days. In huw many days mii
24 men and 14 boys complete the same work ?

(1) 10days  (2) iSdays (320 days (4) 25 days

15m-mzammmaﬁqnﬁﬁﬂgﬂzﬁtﬁiﬁt24
et ST 14 w2 TN I A B R ¥y w80 2

(1} 10 B9 (2) 15 RT  (3) 20 faw (4 25 &=

29. Which one of the following numbers is divisible by P17

ﬁﬁﬁﬁﬁﬁaﬁ?—ﬁrm:;ﬁ%ﬁmaﬁmm;%?
(1) 1242523 S (2) 1254523
(3] 1542523 (4) 1524523

10
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30. A person takes a trip which entails travelling 500 Km. by train at 80
Km. per hour, 300 Km. by taxi at 25 Km. per hour and 400 Km. by
aeroplane at 350 Km. per hour. What is the average speed for the
entire journey ?

L]

(1) ©61.88 Km. per hr.:nur (2} 62;33 Km. per hour
(3} 60.88 Km. per hour (4) 63.88 Km. per hour

%mﬁﬂsnnﬁﬁmaﬁwmﬁﬁsﬂﬁﬁmnﬁrwaﬁ
Ry |, 300 ReeeT @ a=r TRE | 25 PefieT 9l | T 400
Firiiee 9 e EaTS STeT @ 350 ReeideT iy der A Ry & g
e ¥ | Hyot amn 3 Rl sadh ohwa iy W ® 7

(1) 61.88 fremfter afy ga (2) 62.88 Rearitee AT g
(3) 60.8¢ FresfieT ofy g&1 (4) 63.88 RHaTIeT Aiy g2
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SECTION-11
- WvE -1
(G.K. and Curreat Affairs)
(arm= o o mdEE gend)

31. The name of the Chairman of 13th Finance Commission of India is

..............

{1) Dr. C. Rangarajan (2) Dr. Vijay L. Kelkar

(3) Shri K.C. Pant {(4) - Dr. P.V. Rajamannar
TS faeT smET @ 134 st v oAm L e B
(1) ETo Hlo Immm (2) ZTo favE Tsro At
(3) i Fo Ho Ty . 4) Blo Yro Ho THATT
32,) Which one of the following is not mentioned in the Constitution of
India ? ' _ .
(1} Planning Commission (2) Finance Commission
(3) Inter-State Council (4) Elcctinn Commission
Fret & & 8 wia & afrrs & e 7o e o B 2
() IPET ST (2) R omar
(3) i ity (4) gmE emET
33. Where the'29th Olympic was held ?
(1) NewYork (2) Peris (3) London  (4) Beijing

Sireal sfefeas wel omdifir gom a1 7
(1) ~gam 2 WE (3 @== (4} ¥

34. Who started the Bhoodan Movement ?
(1) Jayaprakash Narayan (2) J.B. Kripalarmi
(3} Acharya Vinoba Bhave (4) Dr. Ram Manohar Lohiya

12



14U/101/ 19{1)

qEH SR e gE P 2

(1) ST ATaaY 2} Ho o Faew

(3) omerd fer W@ (9) aamqﬁiﬁﬁhﬁ!ﬁm
Uranium mines in Iridia are located in :

(1) Alwayi ' (2) Jadhuguda

(3) Khetri (4} Singhbhum

qra & gfrEm w0 wEe st ¥
(1) IR d @) gt { (3) waai’rfr (4) Famyfr 3

36. Kandla port is located in which State ?

(11 Goa (2) Karnataka (3) Orissa (4] Gujarat
| HrEEr SRR e usg ® Reg ¥ 7

(1) ivar 2) wAlesm  (3) THET . (4) Tt
37. Which State in India is the $mallest in area ?

(1} Gﬂa (2] Sikkim (3) Nagaland (4) Tripura

%mﬁwaﬂahﬂ-wmﬂaﬁﬂat? :

(1) T 2) fafesm  (3) IOE 4y faga
38. |Buddha died duringithe reign of |

(1) Udayan (2} Bimbisar

(3) ,\jatalmtru : (4) Jeeasandha
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39. Tulsidas was a contemporaryof ....... AN S R
(1) Babar (2) ﬁkba{'
(3} Jahangir (4) Shahjehan
TIHEH B gHHET . oar) |
{1} &< (2) T (3) STBEIT (4) SmETE]
Numbcr of bones in.new born baby is
Ao R grER A L, ggiedl @ ¥ ?
{1 208 (2) 206 (3) 200 (4) 270
41. Water freezes at ..........o.........
(1) 100°C 2} 10°C (3) 0°C (4) 40°C
1) SRR 9 SPar & - |
(1) 100 f=3f dfeds (2} - 10 f&ht HRAs
(3) ofssit dReds 4] 40 Bt dfeds
Grccnyugctablcs are rich im .................
(1) Vitamins : (2) Minirais
(3) Carbohydrates . (4) Proteins
st d .., afferes &mm &)
(1) Rrefs 2) @fer (3) WHEIEEZT  (4) WM

9 Who is the President of International Olympic Committee ?

(1] Famine Diack (2)

Salil Shetty

(3) Jacques Rogge (4) Helen Clark
T oifefraes wftfy &1 aremey A7 2 7

(1) BHEA IRTF (2) [ et
(3) Segw 9 S (4) W Fe

14
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44. Ripening harmone is :

(1) Gibberillin 5 B (2) Morphactin
(3] Ethylene - (4) LBA.
T A A e Bk .

(1) FrafifE S 2y AR
(3) A - (4) SMBodloUe

4%. What types of device is a computer printer ?
{1] Storage (2) Software (3] Input (4] Output

o FrE BT R, ST @ ST ¥ 7

(1] =|a (2) wFEEER (3) YT (4) TTIEYE

Who was Gold M;da.l winner of Lawn Tennis single in 16th Asian
Game, 2010 ? -
(1} Somdeo Burman ' (2) Sanam Singh
(3) Mahesh Bhupatti . (4) Liander Peys :
163 ofdrrE @, 2010 % Wt 2 (o) & &©7 gask e offen ?
(1) drag g9+ (2) wIH e
(3) wRw Ry (4) @=T i9

47. The first ICC Twenty -20 (T-20) world cup cricket held in ..........

(1) India (2) West Indies -
{(3) South Africa ' ' {4} Sr Lanka
m@ﬂ—zuﬁﬁmwmﬂgmm?

i .

A {-"

s

15
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In which of the following states was the Panchayati Rej first introduced ?
(1) Gujarat (2)° Rajasthan. !
(3] Bihar (4) Kerala @

Prerifer & & fsm w4 & wed ol deend T e g ?
(1) o (2) UoREmA (3) Ferc @) g

Which country has the biggest constitution ?
{1 USA. {2) France {3) Canada (4) India

e 3w o G e e B ¢

(1) s 99 R (2) wFE
(3) AT (4) wrew

§0. Indian Constitution was amended for the first ime in ............. g
oe Wit el wiiee L ... B e g

(1} 1950 (2} 1951 (3} 1952 (4) 1953

$1. The Tehri Dam is built on which river ?

(1) Ganga (2) Yamuna (3} Bhagirathi (4} Sutlej

owd ste frg T g R ? _

{1) T (21 g @) Wit (@) e
e India is the largest produocer as well as cnml;ir'm:r o

(1) Pulses (2) Millets (3) Maize . {4} Wheat

1 1 £ R H WIN T SARE of Jofm By

(1} == (2) T (3) TERRT (4) NE

=3, Who is knawn as a 'Master _Blastef‘ ?
{1} Birendra Sahawag (2) Sunil Gavaskar
(3} M.S. Dhoni - {4) Sachin Tendulkar

16
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B W e 8 S o & 7

(1) = qear
(3) THouHoHM

(1 3 (2) S

(2) G AEERT

(4) B dgTeT

How many rings are there in the Olympic flag ?
. aieiur e § B o (o) da ¥ 7

(3) 6

(4) 7

Which State is the leading producer of Soyabeen in India ?
{2) Madhya Pradesh

(1) Punjab
(3] Kerala

(4) Maharashira

wﬂmﬁqwmmmww-w%?
(1) Yo (2) Weq gewr

Who wrote the book "My life’ ?
{1) Z.A.Bhutto
(3) Bill Clinton

et g e e 1

(1] ¥Tolo HIA
(3) faw e

(3) o

(2) V.P. Singh
(4) Mark Tully

2) odle T&E
(4) W gEEN

‘Dada Saheb Falke' award was first given to ?

(1) Devika Rani Roerich
(3) Prithvi Raj Kapoor

17

{2} Mrinal Sen
(4) Yash Chopra

(4) TR
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58. The drug "hashish’ is produced from the flowers of the tree of :

(1) Neem (2) Hemp (3) Rose (4] Tulsi
ﬁﬁﬂwﬁwﬁﬁﬁﬁﬂ%%t@ﬁﬁwﬁaﬁaﬁ%:
(1) m (2)  ggam (3) I (4) gerer
White coal is oo :
(1) VUranium (2) Ice
(3)  Hydroelectricity (4) Daimond
EE BIIAT oo 4
{1) TEw _ (2) _B
(3} srEEeEARE (4 &1
60. Who built the Khajuraho temples ?
(1) Chandel (2) Chola
(3) Pallavi {4) Rashtrakute
QIS H ARY R sEmr o9y 7
{1) =R« (2) "9 - (3) yoerd (4) IgeRE

18
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SECTION - 111
g ~ 1
{Accountancy and Business Organisation}
(Farwr o Haana®  {e)

The system of recording transactmns bases on dual aspect concept is
celled :

(1} Double Account System C2) Smgle Account System
{3) Double Entry System (4) Single Entry System

mﬁgwwmﬁqﬁ%%@ﬁﬁmﬁm
160

() Deq @Er TR ) e @ yeTen
(3) BT @ HOT (4) FHEQ Jwr TOME
How many columns are there in a Journal ? , :
(1) Three (2} Four (3) Five (4] Six
S 3 fpad e (@) @ & 7

(1) o= 2) I (3) i (4) ©
No Jaﬁmal entry is made for ..........oooreneee

(1) Brokerage : (2} Cash discount

(3) Trade discount (4) Qommissian
Aorrger H wafeE e & Ry 7l R S 2
(1) e (2) g

(3) safeEr 5T .(4) W

Double Entry system's rule 'Debit the receiver and credit the giver' is
 applicable 10 :

fﬁfb-!‘arnﬁnal Account (2} RealAcmunt .

:{3) - Nominal Account (4] hﬂ@@m‘l‘t

19 P.T.O.
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66.

67,

SIBT ST STt @y P

Ear @

(1) = amr 3 B

(3} W TWrr & A

Bad Debts Account is related to :
(1) Personal Account

{3) Nominal Account

A FT QAT T aEg B
(1) =af™ oET

(3) AvEE Grar

Goodwill is -

(I) Floating Asset

{3) - Fictitious Asset

iy 2 .

(1} oTear HaiRy

() ==Edl Hafer

'mﬁaﬁaﬁmqﬁlﬁaﬁa&m'm

arefas wrar % 63
R @ & R

A '|: i
Real Account-
Suspense Account

arEs =T
I W

Wasting Asset
Intangible Asset

I woly

Which equation is not correct out of the following equations ?

(1)
(2)
(3)
(4)

Capital = Assets - Liabilities
Assets = Liabilities + Capital
Liabilities = Assets - Capital
Assets = Liabilities - Capital

ﬁqﬁrﬁ@ﬁﬂvﬁﬁfﬁﬂﬁrﬁw—mwﬁmﬁﬁw%?

) IR = gofeaat - afaer

(3) e = Hwﬁaw-gﬁﬁ

20

(2) ®ufEadr = ofge + iy
(4) w=gfter) = afres - goft



68. Outstanding sa.lary is

(1)

. Balance of the Cash Book is ©..........c.ccvue
(1) Debit and credit (2)

3)

(1)
{3)

...................

Income i {2) Expenses

S (2) /=4

[}
5

Debit

dm" og S|l
AN

-

" 70. Trail Balance is :

(1]
(3}

(1}
 (3)

An account

An information

TFH Grar
@ ga

(2)
(4)

(2)
(4)

14U/101/19{i}

for trade.

(3)

Liabilities {4) Assets

Al #) wwiE

Debit or credit

Credit

A statement

Summary

us e
QF G

71. Under the straight line method of charging depreciation, the amount

of depreciation

(1)
(3)

--------------------

Remains constant every year (2)

Increascs every year

21

(4) . Innakecpiaip .

Decreases ¢Very YEar

%T1.0.
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H A # A e TSy $ oraiT 'E a Ao

(1) s |aa= WS B (2) 9fy af gedi 2
(3) ufemd wedi & (4) ®E Ffvaa 98 8

@ Expenditure incurreed on extension to an existing property is treated
(= T e RSt e
(1) - Revenue loss (2) Capital profit
{31 - Revenue expenditure (4) Capital expenditure
et FremE wafe @ R «w e m@p =9 ..l B B |
(1) AT B+ (2) Yottt ars
(3) EH FF (4) Yot =g

73. One who draws the bill is called ...................
(1) Debtor (2) Drawee (3) Payee (4) Drawer
MR e SR sE e R

(1) FTER (2) &L AT
(3) ATaFHat (4) FE=FH

Registration of Cooperative Societies is *
(1} Voluntary (2) Compulsory
{3) Harmful (4) Desirable

el aEfemt o1 9dmT § o
(1) ofess 2) sFE™  (3) =fEErE {4} BT

75. If payment is made before average due date, then debtor is allowed :

{1] Discount (2) Rebate

.{3) Brokerage (4) Commission _
ﬁ%w%%ﬁwmw%ﬁmﬁﬁ
(1) B2 (2) A (3) =t (4) FHHy=

22
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Business provides incentive to :

(1) TaxEvasion (2) Adulternation in products
(3) Efficiency (4) Price rise

sqarE dom e & - |

(1) =T 8 (2) w7 faemEe
(3) eI (4) T IE
COMMETrCE ....oouireirsiinnnns

(1) is a part of business (2} is a part of trade.
(3} isa part of industry (4) is a part of promotion
AT ..veeieeeannnn

(1) =FEEr B S ¥ (2) =GR & AT ¥
(3) FET w S B (4) AT HT AT 2
A promoter of business enterprise may not be :

{1) a stock-exchange (2) acompany

(3) afirm (4) an individual

& A SUEH & gads T & wEn ¥

(1) usE wa-Ruf (2) @ F

(3) wH B (4) T A

The greatest handicap of a s0le trAAET I8 1vovevveerrrrreenines

(1] small size - {2) limited capital

(3) limited liabilities (4) -unlimited liabilities
ueRE AT H =9 T FETHE o s

(1) BEy SR (2) T geit

(3) @t i (@) s aIEeE

23 - 2 TN0.
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0.

31,

8.

83.

Partnership is formed asaresult of ................[......
{1) License from Government Ty

(2} An agreement among individuals

(3 A Central Legislation

{4} A State Legislation L o

wREr W T evenn H TMEEY &ar ¥

(1) 9@ | I (2) oHY¥Egr & &g wuEaT
(3) ST A @) w=fm e
Registration of partnership firm is R T—

{1) Essentia] (2) IMlegal

(3} Voluntary (4) Compulsary

T o W gl woEy oL e .

(1) v 2) Heareh

(3) Qe (4) et

The liability of shareholders can be known :
(1) From Auditor's Report ;
{2) From Firm Prospectus

(3} From Article of Association

(4} From Memorandum of Association

SAnEt & afdm Y o wwd ¥ -
(1) sidwor it § (2) = R @
(3) eEm grafdas § (4) wHeET Awfr @

Equity shareholders are .........

{1) Owners of the company (2) Debtor of the company
{3) Customers of the company (4) Creditors of the company

24
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o e AR L -

(1) FT0 F &l (2] FN H EEC

(3] F B UEEH @) T B AR
Which business organization has éot its seperate legal entity ?
(1) Jeoint venture ‘ (2) Sole Trading

(3 Fum 5 | (4} Joint stock company
g EEiE TsT A A Juihe afteeT ar<y ¥ 7

(1) HGHY AES C(2) e R

(3) wt (4) wgaRr goi @l

The minimwm number of numbers in a public company must be :

oF gt @ § s @ gmow g fR o e
=fed ?
(1 2 2 5 3 7 (4) 50

Preference shareholders have normally ...............eee
(1) Equal voting Rights -~ (2) No voting Rights
(3) Limited voting Rights (4) Full voting Rights .

qatftesTe Serenfiat S WEFEr
(1) wa X & ey w0 A aw ¥y

(2) wa 2 w1 st T g ¥

(3) WitE a3 @ s & ¥

{4) gt Tt S ¥

The following Accounting standard is applied for providing depreciation :

: .
- - ,\_r'f:: 1? .'.‘!'_ g ., . l.

(2) AS-4  (@F A

as #TO0.
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88.

The risk involved in equity share is ............. N
(1) Maxmum (2) Minimum (3) - Normal (4} None

(1) afEmm (2) =Ew (3) W 4 TB T4

Which one of the following is not a form of business organization?

(1} Sole proprietorship (2] Partnership

(3) Charitable Trust (4) Joint stock company
Frife & & @ =aits. @e @ of grey Tk 7
(1) T AT . (2) @R

(3) =wted g (4) TIF Y TiEA

In India a Partnership Firm is governed by -

(1) Partnership Act, 1920 (2} Partnership Act, 1956
(3} Partnership Act, 1948 (4} Partnership Act, 1932

mﬂﬂﬁﬁwﬁmwmﬁﬁuwﬁ@m%?
(1) w#erd afaPrs, 1920 2 wﬂmﬁ Ffefray, 1956
{3} wdEr afafyas, 1944 (4) ARETR erfafrem, 1932

26
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14U/ 101/ 19{1)

SECTION - IV
|UE - IV
(Eponomics and Monoy Banking)
(srdwres ot e W)

'Economics is the science of scarcity’! Who gave this definition ?

{1] Marshall > (2) Robbins
(3] J.N. Keynes (4) _Cannon
'm&mw{@nm)mﬁwa%’awqﬁwﬁmﬁﬁ?
(1) e (2) [
(3] Fo THo HEH (4) &
Who is the author of book entitled "Principles of Econormics” ?
(1} Marshall (2) J.B. Bay
(3) Adam Smith ; (4) Pigou
“Principles of Economics™ J&7% & e B & 7

(1) e 2] - Hofto § (3) omaR fETer  (4) L1}
Which bank first introduced Mobile ATM in India :
(1) LCILCIL _ (2) 1LD.B.L
(3} HDFC ) (4) Axis Bank
e e @ ¥ wdmaw Serge QodlogHo AN R
(1) LCILCL : (2) LDB.L
(3} HDFC (4) Axis Bank

04,

‘Money Market ia regulated by :
(1) Financial Inatitution (2) Indian Commercial Banks

() RewpgPankofindia (4 Forge Rty

2 T r 'I,.Tl'nl
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95.

96.

ST AT HT P AT e ¥

(1) fa<ig dwe (2) =\ afeifaes &
(3} Rod ¥ offw SRar - - (g ‘f&&qutzﬁ

‘Who has propounded the -concept of "Rent ﬁrf‘ Ability" :

(1} David Ricardo (2} le'll Wieser

{3) Mrs. John Robinson (4) Aifrcd Marshall
“ﬁhqmmrmm”aﬁmmfﬁmﬁﬂfﬁmﬁﬁaﬁ%:

(1) 2z st 3 (2) arF agoT J

(3). sl SR afase (4) srEhe ok ¥

Which of the following is not correctly matched :
(1) EXIM Bank — Finance for Export and Import

-{2] R.B.I - Banker's Bank .'

(3) LD.B.L - Industrial Finance
(4) F.C.L - Financial aid to commercial institution

Prfefe & & @ o gk @ & .

(1) ﬁﬂfﬁﬂﬂﬁﬁﬁi-%ﬁﬂfﬁ?@ﬁﬁ

(2) Rod Fo oftw R - Hat 37 Fp |

(3) . wredie shenfies Rere 8 - P forer

(4) mﬁu-mﬁvm—mﬁhaﬁmeﬂfﬁrﬁ?ﬁum

According to J.B.SAy, “‘Rule of Three” applied to :

(1} Progressive Tax, ~ (2] Proportional Tax

(3} Regressive Tax (4) Degressive Tax

o Mo & J ITATT “Rule of Three”” (7 7y Fram) sy @ &
() mifesiter =3 o (2) HuRh & a3 |
(3) AR =7t g (4) ATl Y g7
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98. Total utility is ................... when marginal utility is zero.
(1} Minimum (2] Maximum (3) Equal - (4) Zero
ot W Swdfhar g Eh B, & e gt L A B
(1) =gFaH (2) HAlFHTH (3) FUST (4] ¢
99. Which one of the fr.‘::ilpwing is the best source of exchange ?
(1) Goods o (2) Cheque
(3) Bill receivable (4) Money
=it # Bw-ay fafpTa @ aaos qua & ?
(1) o7 (2} = (3) fa=mor faua (4) H&T
@ Money is what money ducs Who gave this definition ?
(1) Fisher [’2] Marshall
(3) Hartley Withers | (4) Seligman

‘@ﬁ?ﬁﬁﬂﬂm-ﬂﬁ",ﬂﬁqﬁwﬁ?ﬂﬁﬁ? _
(1) e (2) =t (3) e famd (4). AR

101. The concept of Monopsony was invented by :-

(1) Marshall (2) A.R. Lemer

(3) Chamberlin (4) Mrs. John Rabinson

CEEEEST ST9ET RN CHIERT ) ST &1 anfreRry R B 7,
(1) =neer | (2] do Mo T

(3) R (4) S S ofesas

103.For I1stmg of securities a]::-phcatmn ul mdc to .............
(1) Smck.mhang: (2 oy
@ - StatpgGovernment eyl

29, - s@.o.
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morgferdl & T ' . = FaeT Rar omer )
{1) w=p-er fagiey (2) FHE TFEK
(3) T FEK (4) aﬁvcr:ﬁ* ‘el

103. Solution of unemployment problem of India lies in ................
{1] Government industries (2) Cottage industrics
(3) Small industries (4} Large indytatries
SIE Bt B BORHET B TG ... T tAfaa &y
(1) TR e (2) HET FET
(3) &g IE@FT (4) =T J=oT

104. Principle of Maximum Social Advantage' is concerned with which
area ? :
(1] Profit 1 (2) Rent
{3) -Interest (4) Public Finance

‘mmmﬂm’mhﬁﬁdﬁﬁ%?
(1) &9 | (2) =R (3 TR (4) =" |

@Thc first stock exchange in India was established in .......... .

W & gert @ Raftr 8 e L g ot
(1} 1857 (2) 1877 (3) 1887 @) 1948
106. Law of substitution is also known as ......... .

(1) Law of Diminishing Utility
(2} Law of Equi-Marginal Utility
(3) Law of Marginal Productivity
{4) Law of Dermand

80



14U/101/719(1)

e B o w=r omar ¥
(1) S &w e

(2) wx-HE At s

(3) WET S

(4] g1 /1 | .
107. Which of the following is the contingent function of money ?
(1) Basis of Credit (2) Medium of Exchange
{3) Measure of Value (4) Store of Value
frfafer 3§ & AF-81 J&T &1 AHRES Hd ¥ ?
(1) T B IR ' 2) fafme & Amegw
{3) 4T T H9H . (4) WO ;| G=T
ce clasticity of giffin goods 15 ......coveiiinnnnenns
(1) Positive (2) Negative
{3) Zero | (4) None of these
Fifte et & R mer =57 & @ .o e @t &)
(1) =Twedss ~ (2) HonH® () TH (4) =g Tt
109. Dunng which timc-pcrio& all the factors of preduction may be changed ?
(1] Short run {2) Vm}r short run
(3) Long run (4) Very long run
a5 Pr-aT wa & Rrad St & @R A qiakfa R o
&7 -
(1) SweTEE - (2) oy T
vy O (41 oy SR

31 P.T.O.
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110. In which economy decision is taken on the basis of price mechanism ?

(1) Socialist : (2) Capitalist
(3) Mixed ccnnnmj | (4) Garkdhian economy .
Rre orfetiaen & A5 g5 & ama a¢ Frokg By opdt ¥ 2
(1) wHER) (2) Yofard
(3) i@ oredenaeen (4) TNET arefemenT

111. Central Bank of Indiais ........ ...
{1) State Bank of India {2) Central Bank of India
{3} Reserve Bank of India (4) Panjab National Bank
LIEGECA I i O = R T
(1) ®T ¥% alty g (2) & % offs Efyay
(3) W ford ¥ (4) dAE Jgreer g

112. The impact of 'Green Revolution’ was felt most in the case of production
1 e :
(1] Rice (2) Pulges (3] Oil-seeds (4] Wheat
SR iRy 1 oo o L I & Heet F gz
(1) =mEe (2) SoeE (3) aams 4) ¥

113. The standard of hving in a cﬂunt.ry is represented by L
(1} Per capita income (2) Poverty ratio
{3] Unemployment (4) National income
Bt 201 a1 ofes & owmay L H ufetfesr = 2y
(1) of =R oy (2) TH sqwe
(3) ASTIH 4) ST amg

32
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114. The first egmate of nation income in India is made By .............

() VKRV, Rac , (2) Dadabhai Naoroji
(3) J.K. Mchua ' (4) Gorakh Nath Singh
Wt T o BT O TN e AT AT AT
oy | ;
(1) RoBowAToRo TH () wrersmE R
(3) oo AwM C @) e W e

118. Who among the following is the Chairman of the Planning Commission ?

(1) f'resident (2) Primme Minister
{3] Union Minister of Planning (4] Union Ministier of Finance

frm # A Wy Aer oA B oW o ¥ 7

(1) e (2) samRTER

(3) FEm g Wl | (4) @ A WA
lld.-Swmnaja}ra:][}ti, Gram Semarozgar Yozana [SGS‘:’} was first launched in

Indig in .....cooneen-

s eaotwaedl B R ATl T TG oo #

() 1975 | (2) 1984 (3) 1997 (4] 1999

117. Monetary policy refers to the policy Of ..oooevieriseiner

{1) Government (2) Commercial Banks
(3) Central Bank o4} Ko {Pas ..

ad P.T.0.
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(1) |EHTC (2) i ¥t
(3] A FAx (4) el g
118.The general budget is presented to the Parliamenton .. ... '
(1} The last day of February (2) 15th March
(3) The last day of March : (4) 1st April |
HEE @ .. A OegeT ey o 2
(1) BEh & ferny Ry (2) 1548t ATe
3) =T & wfaw Ry (4) ussh athe
119. Abid Hussain Committee recommended on
{1] Export policy - {2) Small scale Industries
{3] Infrastructure (4) Financial sector reforms
S giE wflRy L U STIWHT T
(1} Prata i (2) g FET
(3) HEm (4) Frcher &= & gamt
120. Legally SEBI was established in ...
Yo W F A A v q g o
(1) 1956 (2) 1992 (3) 1996 4) 2004

a4
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SBCTION -V
ovE -V
(Englisb Language)
(atitstr wmm)

[For the Candidate opting for Eny!tah Language]
[ oy g A Rl © frd |

Directions : (Question Nos, 121-124) gelect the word nearest in
meaning to the given italic word.

121. Complacent

" (1) dependent (2) satisfied
(3} arrogant R 4) in-;lif_ferent

122.Exposition '

{1] EKPGSLITE ! ) [42} Clﬂl'il'y

(3) obligation - (4] explanation
123, Beneficent

(1} rude (2) confident

(3) kind | (4) thoughtful
124, Corporeal ' .

{H physical (2) corporalc

B meptal o (4) racial

X ,_.l-. an s e

as P.T.O.
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Directions : {Question Nos. 125 — 128) In each of thgmvcn sentences,
select the word which is opposite in meaning to the underlined word.

125. My hmtﬁer is diligent as well as intelligent.

(1) Lazy (2) sharp
{3} cheerful (4} sad
126.The culprit confessed her guilt before the police;:
{1) accepted ) (2} admitted
(3) denied (4) refused
127.The sudden contraction of the bladder surprised all the players,
(1) manufacture (2) expansion
(3) fulfilment (4) repair
128.The judge was vulnerable both emoticnally and physicaily.
{1} gullible (2) credulous
{3) fickle (4} .strong =
Directions : {Question Nos. 129 - 132) Choose the correct preposition
to fill in the blanks,
He was born........,. poor parents. :
(I} with (2} at { of (4} from
130.You must atone ......... .. your sin
{1) for (2). from (3) with (4) at
'131.He is conspicuous ... ... ‘absence,
(1) with (2) for (3} to (4) by
‘r’our Planisopen .....,.... objection.
(1) for 2 to (3) from (4) by

36
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Directions : { Question Nos. 133 - 136) Fill in the blanks with the
correct form of the verb. ,,

b < b S ) G e you, | would win the 1st prize in singing.
(1) was (2) were
{3) am (4) had been
134.Had she met me earlier, I ................ her the secret of sutceas in tife.
(1) ,would tell {2) will have told
(3) would have told (4) had told
I ............... my work before she comes.
(1) will finish ' (2} shall finish
{3) would finish 14T will have finished
136.1'1l stay here until You .......ccccovimriennvens '
(1) will return ’ (2} return
(3) will have returned (4) shall have retumed

Directions : { Question'Nos. 137 — 140 ) Select the word which has

been wrongly spelt.
137.(1) psychology _ (2) begining
(3) allotted ' (4} recommend
138.(1) dependance (2} attendance
' (3} correspondence : (4) riddance
139.{1) pneumonia " {2) measles
(3) diarrhoea (4) maleria

a7 . WT.0
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Directions : ( Question Nos. 141 - 144 ) Select thic parts of speech
of the underlined words in the given sentences. :

E_iﬂl_&l; solution is true. .
(1) noun (2) adverb

w3 adjective (4) pronoun
142.The player kicked the ball very hard, _
{1) transitive verb (2) intransitive verl
” (3) auxiliary verb {4} modal verb
143. He will live here till his retirement,
(1) adjective 2} noun
(3] adverb . {4) verb
144, She reached here vesterday.
(1) adverb (2} adjective
(3) noun (4) determiner

Directions ; [ Question No. 145 and 146 ) Cﬁ_‘aéng:.the given sentences
© into the passive voice, , '

Fcnple €row rice in ponds.

(1) Porids are grown in rice by people.

[2) Ponds are grown rice in by people.
" (3 Rice is grown in ponds.

{(4) Rice are grown in ponds..

ive me a glass of water.
{1] Waterisgiventomeina glass by you.

(2) A glass of water is given to me by you.
(3) Let water is given tome in a glass.
(9 Let a giass of water be given to me.

38
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Directions :.( Question No. 147 and 148 } Mark the correct meaning
of the idioms from the alternativea given below :

147.To be at one's wit's end
(1} to be overjoyed
(2} to be envious
(3) tg be pcrpl:ieci
(4) to be in a commanding position

{1} to pull somebody's lég

2y to endure the main force

(3] to pulverize the enemy '
{4) 1o rescue the worst sufferers

P T

T . m :

MII i-"ll Question No. 149 and 150 ) Choosc the correct
sentence in each group.

@[1] Do you know to swim ?
(2) Do you Know swimming ?
(3} Do you kisow how to swim ? -
{4) Do you know how will you swim ?

*[1] He has given his examination.

{2}~ He has taken his examination.
{3) He has sat at his examination.
... k.o haasakin his examination.

.
39 !.-'r.u.
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BECTION -V
- WvE. v
{thlhnm

(o=t =) _
(For the Candidate apting for Hindi hwl

(qugﬁaﬁfﬁuﬂtﬂ‘%mﬂ) ;

@? ﬁmmﬂm.??
{1} oA™Y (2} T=TATSY

(3) el w | (aY e
{[ﬁﬂﬁ#“ﬂ'ﬂﬁﬂ#ﬁf’q: '

(1Y shefrraor (2) FENfracor

(3) heFremTT (4) R
183. 7% 9 91 g WY 7 :

(1) weft (2) Frprem (3) wasy 4 =y
184wt A ge datr Ay

(1) T (2) afvah

@f = (4) ol
.mm-faaaza ' |

”J“ﬁ+ﬂT"ﬂ (2) 9der + ot

@) 9+ gesref Y98+ o

40
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186, ‘wrgu? @ wd wiy-fress 8 .
(1) § + gEx (2) 7 + I
(3) SR + gw (4) gl + IwT

‘W’ﬁﬁn‘&ﬂrﬁ%wﬂéfmﬁmmﬁaﬂmﬁwaﬁﬂ?
1) I (2) I (3) &1 @Y em

158. Frg ot o ‘IET 9@y & 49T 7ET R 7
{1) ST (2) R (3) &=l {4} BT
| .

189. 7% Q@ Rrg gt & Suadt & ogher qA R ?

(1) gzh‘lT (2) gaaaY

(3) gRar (4) go
@l‘m-gﬁ'ﬂeﬁﬂm%?_ .

(1) Tgfe of &=

(3) FHERA (4) wrETE
s-ai‘t A 2 aemH g T B ? |

(1) S @@= e (4) T8
@ Hwe A = B 7

* 1 '-T-ﬂi
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é%ﬁﬁmwnm#ﬁ?
{1) 6% 2) BymEE (3) AT [41/‘6:&4&116121

@%wwﬂwmmﬁ; |
(1) R () TR (3 aafr @) =fash

168, ‘wepfa’ = Rt & -

(1) dega () Hegats

(3) wiERa (4) wiephs
166. T & R grem A B 7

(1) &g (2) TG (3) TSR] (4) TEr
167. ¥ § & HE H HgT ¥

miw @&

(3) # R (4) |
168, ‘RB¥=wT = ':mhaﬁ 3 :

(1) AHIEHT (2) et (3) Frempt {4) gamET

'sﬂﬁﬁaﬁ?‘aﬂq’iﬁrm TETR ?
{1) oTH {2) ITTARS (3‘)/1"1115 (4) IO

(1) g (2) = {3}/1171721 (4) thmr

42
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171, ‘R’ & e 8 )
{1) S (2) Y @) T (4) dag

ln.mmﬁwaﬁaﬁwﬁmﬁaﬁﬁzﬁwaﬁﬁ?
(1) uferE= (2)* T
(3) afta= (4) ITTECH

Wmﬂaﬂ%wﬂﬁaﬁm%wmw%ﬁﬂw
EY ? | -
(1) "=t (2) 9E=IRY [3{'1?:1?1711?:'[ (4) qETHIA

174, SN Eﬁ@?f.% A TR, I§ T HEN ?
(1) HAfer ) ow  (3) wEied (4 it

176. T § Y @ PR B ¢
(1) R (2) =tgf  (3) ST (4) FHAM™

177, ‘wrE-wrtd P T ¥ 7
(1) epid Wt (2) goar et
@) AT I (@) R g

43 P.T.O.
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178. 'ﬂﬁa@tﬁﬁ’ﬁﬁﬁﬁi’fﬂ%?

(1) &9 (2) FEumafy
(3) STERT (4) Frard =g
179. 578 & womdt game R o gy B -
(1) &of ot ST {zymﬂ%wkqw
(3) TF T FH W (4} A8 ST

- 180, &= Wi & @Oty B wer v & ?
(1) SMgFRs PR C (2) AR
(3) ST W (4) Wi

e 27000
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ROUGH WORK
% v
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ROUGH WORK
% W
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1.

12.
13
14.

arefat & firu frifw @
(mgﬂm#mmwwmm-ntaﬁw‘w
e fi-wRR aw-dnyz d7 4 o ) g

v qfi e & 10 fime & SRR @ 2@ o R g 5 T 1S Eﬂ’-ﬁ?
e e T B G AR I WA R EE I aehe -l
Trq W el g o WO
uﬂmwﬂmmzﬂmwtaﬁﬁmﬁ@m'wﬂ%m
¥ 7 ard
awT-ax wvrn & fear mar 4 ¥R v W wE S 7 o g wdi A awe- wn T fen w
#are Fwe-wx W Ff oo fsw anm
HON FHAE AU ITCT FFAS T FAW-9E R 37 Freifes o w o
Fwe-o% &% PO g ov 97 § At agEwe iR wr qv foret me e A vl wt

gy & 1 wel-wyt srEyew ¥t ayt Tyv- g a mvie AW ST w7 Twe e o
T ferel

Mo THe HTo TN G IFEAR WO, TEGRST How 7 Wz vew (VR wY ¥) o

|yl wT agEE AT Mo (o o T dww w wRvfiral & wofivtert 7 ST

wh

e xiufi) ¥ wif of wiwir By g g vy par et sww Fﬁ
RTT w1 I A awdi
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